
School Accounting System 
Federal Income Tax (FIT) Calculation 

Examples for Tax Year 2024 

 
 
Example 1:  Using old W4 format (2019 & Prior), Married with 2 exemptions, 12 tax pay 
periods per year 
 

 FIT Gross Taxable Calculation: 
 FIT gross income per pay period ................................................................................ $ 4,100.00 
  Multiply by number of tax pay periods per year (from Employment screen in Employee File)  X          12 
 Equals annualized FIT gross taxable amount ........................................................... $49,200.00 
 

 Less annual standard deduction ($4,300) multiplied by number of exemptions (2) .. - $8,600.00 
 

 Subtotal ..................................................................................................................... $40,600.00 
 

 Tax Withholding Calculation (using Married Filing Jointly Table for 2019 & Prior W4): 
 Amount to withhold ...................................................................................................... $2,320.00 
 Plus 12% of excess over $39,500 ..................... $40,600 
    -$39,500 
    $1,100 X 12%  =  $132.00 ...........  + $132.00 
 

 Equals annual FIT withholding amount ....................................................................... $2,452.00 
 

  $2,452.00 divided by 12 tax pay periods .................................................................. $204.33 
  Plus any additional $ or % as specified on W-4 ....................................................... +       $0 
  Total FIT withholding per pay period .................................................................... $204.33 

 

 
 
 
 
 
 



Example 2:  Using old W4 format (2019 & Prior), Single with 1 exemption, 24 tax pay periods 
per year, plus an additional $10 
 

 FIT Gross Taxable Calculation: 
 FIT gross income per pay period ............................................................................. $    1,450.00 
  Multiply by number of tax pay periods per year (from Employment screen in Employee File)  X          24 
 Equals annualized FIT gross taxable amount ........................................................... $34,800.00 
 

 Less annual standard deduction ($4,300) multiplied by number of exemptions (1) .. - $4,300.00 
 

 Subtotal ..................................................................................................................... $30,500.00 
 

 Tax Withholding Calculation (using Single Table for 2019 & Prior W4): 
 Amount to withhold ...................................................................................................... $1,160.00 
 Plus 12% of excess over $17,600 ..................... $30,500 
    -$17,600 
    $12,900 X 12%  =  $1,548.00 .....  + $1,548.00 
 

 Equals annual FIT withholding amount ....................................................................... $2,708.00 
 

  $2,708.00 divided by 24 tax pay periods .................................................................. $112.83 
  Plus any additional $ or % as specified on W-4 ...................................................... + $10.00 
  Total FIT withholding per pay period .............................................................. $122.83 
 
 

 
 

 



Example 3:  Using new W4 format (2020 & Beyond), Married Filing Jointly with Step 2 not 
selected, $1,000 for Claim Dependents, $0 for Other Income, $0 for Deductions, 12 tax pay 
periods per year 
 

 FIT Gross Taxable Calculation: 
 FIT gross income per pay period ................................................................................ $ 3,500.00 
  Multiply by number of tax pay periods per year (from Employment screen in Employee File)  X          12 
 Equals annualized FIT gross taxable amount ........................................................... $42,000.00 
 

Add amount from Step 4(a) on W4, as entered in Other Income (Step 4) field on                    
Taxes screen in Employee File ........................................................................... +       $0.00 

 

Subtract amount from Step 4(b) on W4, as entered in Deductions (Step 4) field on                   
Taxes screen in Employee File ............................................................................ -       $0.00 

 

 Subtract $12,900 if married filing jointly or else $8,600 otherwise .......................... - $12,900.00 
 

 Subtotal ..................................................................................................................... $29,100.00 
 

 Tentative Withholding Calculation (using Married Filing Jointly Table for 2020 & Beyond 
W4 with Step 2 Not Selected): 

 Amount to withhold ............................................................................................................. $0.00 
 Plus 10% of excess over $16,300 ..................... $29,100 
    -$16,300 
    $12,800 X 10%  =  $1,280.00 .....  + $1,280.00 
 

 Equals annual FIT tentative withholding amount ......................................................... $1,280.00 
 

 Calculate per pay period FIT tentative withholding amount: 
$1,280.00 divided by 12 tax pay periods .................................................................. $106.66 

 

Divide amount from Step 3 on W4, as entered in Claim Dependents (Step 3) field on                  
Taxes screen in Employee File, by number of tax pay periods per year; and then 
subtract from per pay period FIT tentative withholding amount: 
$1,000.00 divided by 12 tax pay periods ................................................................. -  $83.33 

   $23.33 
  Plus any additional $ or % as specified on W-4 ....................................................... +       $0 
  Total FIT withholding per pay period ...................................................................... $23.33
  

 
 



Example 4:  Using new W4 format (2020 & Beyond), Single with Step 2 not selected, $0 for 
Claim Dependents, $6,500 for Other Income, $0 for Deductions, 24 tax pay periods per year, 
plus an additional $10 
 

 FIT Gross Taxable Calculation: 
 FIT gross income per pay period ............................................................................. $    1,450.00 
  Multiply by number of tax pay periods per year (from Employment screen in Employee File)  X          24 
 Equals annualized FIT gross taxable amount ........................................................... $34,800.00 
 

Add amount from Step 4(a) on W4, as entered in Other Income (Step 4) field on                    
Taxes screen in Employee File ........................................................................... +$6,500.00 

 

Subtract amount from Step 4(b) on W4, as entered in Deductions (Step 4) field on                   
Taxes screen in Employee File ............................................................................ -       $0.00 

 

 Subtract $12,900 if married filing jointly or else $8,600 otherwise ............................ - $8,600.00 
 

 Subtotal ..................................................................................................................... $32,700.00 
 

 Tentative Withholding Calculation (using Single Table for 2020 & Beyond W4 with Step 2 
Not Selected): 

 Amount to withhold ...................................................................................................... $1,160.00 
 Plus 12% of excess over $17,600 ..................... $32,700 
    -$17,600 
    $15,100 X 12%  =  $1,812.00 .....  + $1,812.00 
 

 Equals annual FIT tentative withholding amount ......................................................... $2,972.00 
 

 Calculate per pay period FIT tentative withholding amount: 
$2,972.00 divided by 24 tax pay periods .................................................................. $123.83 

 

Divide amount from Step 3 on W4, as entered in Claim Dependents (Step 3) field on                  
Taxes screen in Employee File, by number of tax pay periods per year; and then 
subtract from per pay period FIT tentative withholding amount: 
$0.00 divided by 24 tax pay periods .......................................................................... -  $0.00 

   $123.83 
  Plus any additional $ or % as specified on W-4 ................................................ +       $10.00 
  Total FIT withholding per pay period $133.83 
 

 



Example 5:  Using new W4 format (2020 & Beyond), Married Filing Jointly with Step 2 
selected, $1,000 for Claim Dependents, $0 for Other Income, $0 for Deductions, 12 tax pay 
periods per year 
 

 FIT Gross Taxable Calculation: 
 FIT gross income per pay period ................................................................................ $ 3,500.00 
  Multiply by number of tax pay periods per year (from Employment screen in Employee File)  X          12 
 Equals annualized FIT gross taxable amount ........................................................... $42,000.00 
 

Add amount from Step 4(a) on W4, as entered in Other Income (Step 4) field on                    
Taxes screen in Employee File ........................................................................... +       $0.00 

 

Subtract amount from Step 4(b) on W4, as entered in Deductions (Step 4) field on                   
Taxes screen in Employee File ............................................................................ -       $0.00 

 

  Subtotal ............................................................................................................... $42,000.00 
 

 Tentative Withholding Calculation (using Married Filing Jointly Table for 2020 & Beyond 
W4 with Step 2 Selected): 

 Amount to withhold ...................................................................................................... $1,160.00 
 Plus 12% of excess over $26,200 ..................... $42,000 
    -$26,200 
    $15,800 X 12%  =  $1,896.00 .....  + $1,896.00 
 

 Equals annual FIT tentative withholding amount ......................................................... $3,056.00 
 

 Calculate per pay period FIT tentative withholding amount: 
$3,056.00 divided by 12 tax pay periods .................................................................. $254.66 

 

Divide amount from Step 3 on W4, as entered in Claim Dependents (Step 3) field on                  
Taxes screen in Employee File, by number of tax pay periods per year; and then 
subtract from per pay period FIT tentative withholding amount: 
$1,000.00 divided by 12 tax pay periods ................................................................. -  $83.33 

   $171.33 
  Plus any additional $ or % as specified on W-4 ....................................................... +       $0 
  Total FIT withholding per pay period .................................................................... $171.33 
  

 
 
 



Example 6:  Using new W4 format (2020 & Beyond), Single with Step 2 selected, $0 for Claim 
Dependents, $6,500 for Other Income, $0 for Deductions, 24 tax pay periods per year, plus 
an additional $10 
 

 FIT Gross Taxable Calculation: 
 FIT gross income per pay period ............................................................................. $    1,450.00 
  Multiply by number of tax pay periods per year (from Employment screen in Employee File)  X          24 
 Equals annualized FIT gross taxable amount ........................................................... $34,800.00 
 

Add amount from Step 4(a) on W4, as entered in Other Income (Step 4) field on                    
Taxes screen in Employee File ........................................................................... +$6,500.00 

 

Subtract amount from Step 4(b) on W4, as entered in Deductions (Step 4) field on                   
Taxes screen in Employee File ............................................................................ -       $0.00 

 

 Subtotal ..................................................................................................................... $41,300.00 
 

 Tentative Withholding Calculation (using Single Table for 2020 & Beyond W4 with Step 2 
Selected): 

 Amount to withhold ...................................................................................................... $2,713.00 
 Plus 22% of excess over $30,875 ..................... $41,300 
    -$30,875 
    $10,425 X 22%  =  $2,293.50 .....  + $2,293.50 
 

 Equals annual FIT tentative withholding amount ......................................................... $5,006.50 
 

 Calculate per pay period FIT tentative withholding amount: 
$5,006.50 divided by 24 tax pay periods .................................................................. $208.60 

 

Divide amount from Step 3 on W4, as entered in Claim Dependents (Step 3) field on                  
Taxes screen in Employee File, by number of tax pay periods per year; and then 
subtract from per pay period FIT tentative withholding amount: 
$0.00 divided by 24 tax pay periods .......................................................................... -  $0.00 

   $208.60 
  Plus any additional $ or % as specified on W-4 ................................................ +       $10.00 
  Total FIT withholding per pay period $218.60 
 

 


